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3. 1 fAy ot : =
cos ec32

° Watch Video Solution

cot 36°
tan4b5°
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° Watch Video Solution

cot 70°

5.9 fAfg dwr: ————
tan 20

o Watch Video Solution
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o Watch Video Solution

7. 917 AT S@T : cos ec25° — sec65°
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° Watch Video Solution

tan 36° B cot 54°
cot 54° tan 36°

8. J1 Ay @i :

o Watch Video Solution

9, JIF fAfg It : sec® 13° — cot? 77°

o Watch Video Solution

cos 80°
in10°

sin

10. §1F AT St : — cos 59° cosec31°

o Watch Video Solution

11.Wﬁ‘fﬂmztan36o n cot70O 9
cot 54 tan 20

° Watch Video Solution
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12. 517 fcfer L2030 cotT®
cot H5 tan12

o Watch Video Solution

13. 1A fAfT @I : (sin 72° + cos 18°)(sin 72° — cos 18°)

o Watch Video Solution

14. J17 AT @I : tan 48° tan 23° tan 42° tan 67°

o Watch Video Solution

15. T fAfT B@H : cos 40° cos ec50° + sin 40° sec 50°

o Watch Video Solution
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—cos0°
sin 23° cot 50°
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° Watch Video Solution
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17. 917 AT F@t (

° Watch Video Solution
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18. WA fAfT BT : cos(40° — 6) — sin(50° + ) + cos®40° + cos® 50

sin® 40° + sin?50°

° Watch Video Solution

19, 515 Bl |'2(sin32°)_\/§( cos 38° cos ech2° )
) T 77\ cos b8° tan15°tan60°tan 75°

° Watch Video Solution

20. EIg| fada DI
cos(90° — 6)sec(90° — @)tanb N tan(90° — 6)
cos ec(90° — 0)sin(90° — 6)cot(90° — 6) cot 6
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tan(90° — A)cot A

21. J1F A7 St —cos’ A
cosec?A
° Watch Video Solution
22. T fAda It

sin(50° + 6) — cos(40° — ) + tan1°tan 10° tan 20° tan 70° tan 80° tan 89"

° Watch Video Solution

23. T fAdg It
2 1
4(sin* 30° + cos*60°) — g(sin2 60° — cos®45°) + tan’ 60°
° Watch Video Solution
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° Watch Video Solution

3cos 55° 4(cos 70° cos ec20°)

25. 9 AR IE: —— — 5 ; 5 PP
7sin 35 7(tan85°tan65° tan45° tan 25" tan5")

° Watch Video Solution
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cot(35° + 6) + cosec(65° + 6) — sec(25° — 0) — tan(55° — 0)

° Watch Video Solution

27. 917 fAdfg o@t sin 50 + cosecdd 4cos 50° cos ecd0®

cos 40° sechH0®

° Watch Video Solution

2 10 b2
28,9 tan9° — % W ow g IR @0 o _ ¥
b 1+ cot?81°  a?

I o Watch Video Solution


https://dl.doubtnut.com/l/_EfgW5xQZJm7W
https://dl.doubtnut.com/l/_R1DXCmKiQpRV
https://dl.doubtnut.com/l/_SKFCb5MXIyaD
https://dl.doubtnut.com/l/_wuS3PgA1syhi
https://dl.doubtnut.com/l/_adbz8UhnXFTj

29. Prove that tan1°tan2°tan3°....... .tan88°tan89° =1

o Watch Video Solution

30. T BT : cos 1°cos 2°cos 3° cos® 4.....cos230° =0

o Watch Video Solution
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° Watch Video Solution
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cos ec’a cos ec’ B = cos ec’a + cosec?

° Watch Video Solution

34.9 A + B = 90° 37 oW GRIT8 (.1 + :::an_g — tan? A sec® B
an

° Watch Video Solution
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° Watch Video Solution
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(1- sin? A)(1- cos? A)(1+ cot? B)(1+ tan? B) =1

° Watch Video Solution

38. a AR [ G439 e @19
tana + cot 8

. = sec a cos eca + sec 3 cos ecf3
sin a cos 3

T 91T I,

° Watch Video Solution
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9 sin 6 N cos? 0
cos ect) =
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° Watch Video Solution
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° Watch Video Solution

41, 579 B cot 30° — cot 75 _
tan15° — tan60°

o Watch Video Solution
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o Watch Video Solution
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1 — 2sinacosa = (sina — sin §)?

o Watch Video Solution
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o Watch Video Solution
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45, 919 BT : tan47o - cot 270 = tan47° cot 27°
tan43” + cot 63

° Watch Video Solution

1
46. 919 BEI : cot 17° ( cot 73° cos? 22° + S — ] =1
tan 73° sec? 68

° Watch Video Solution

47. 91 fAfg $@I: sin3A4 = cos(A — 26°) AT A=?

° Watch Video Solution

48.tan(f + 15°) = /3 AA sinh + cos # 93 T AT F@AMI

° Watch Video Solution
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49, 17 TR Sl : sin(20 + 45°) = cos(30° — ) 2 H=?

o Watch Video Solution

50. JI7 AT @I : sech = cos ec60° A 2 cos’ § — 1=?

o Watch Video Solution

51. JIA fAT SEH : cos 20 = sin 40 (A 6=?

o Watch Video Solution

52, JIA fATT Sl : sec2A = cosec(A — 42°) AT A=?

o Watch Video Solution
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° Watch Video Solution

54. tanA=cotB (e 9319 Hdl, A+B=90°

° Watch Video Solution

55. JIF fAf Sl : sec44 = cosec(A — 20°) AT A="?

° Watch Video Solution

56.cos 75° + cot 75° (B 0° (TP 30° -aJ (LT (DITFA© 4 I

° Watch Video Solution
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° Watch Video Solution

58. Ji7 fATISET : cos 55° cos 35° — sin 55°sin 35°

° Watch Video Solution

59. J1 fASgdET : sin® 21° + sin? 69°

° Watch Video Solution
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o Watch Video Solution

61. A + B = 90° (e AI6K (PIAfB P ?

A.sinA = sin B

B. cosA=cosB

C.tanA=tanB

D. secA=cosecB

Answer:

° Watch Video Solution
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62. 2 sin(90° — @)cot(90° — 0) = cos(90° — 6) 2T x=?
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° Watch Video Solution
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Answer:

° Watch Video Solution

64. cos e’z — cot? y = 1 (e AN @I BB Af5H?

Ax >y
B. x=y
Cz<y
™
Dz +y= 5
Answer:

° Watch Video Solution
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Answer:

° Watch Video Solution
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Answer:

° Watch Video Solution
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TIH FO?

A5

B.4

C.3

D. 2

Answer:
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Answer:

° Watch Video Solution

71. 5707 / T fA<I5A Sl : sin 6 -a9 557 9B (I SIS 20T cos 6

° Watch Video Solution

72. 507 /T {6~ Sl : tan(90° — ) = secd

° Watch Video Solution
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73.5757 / farat A5 ot - G-SHWWCT% .y

° Watch Video Solution

74. 5107 / 3Tt fAI6A Bl : sec42° = cot 58°

° Watch Video Solution

75. 507 / T3t fA4oA Bl : cos ec21° X cos ec69° = 1

° Watch Video Solution

76.5757 / AT fRAT6A T : TADIN fagod PRI 75 AT 97|

° Watch Video Solution
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77. 5757 / AT fRA6A @ : cos? 20° + cos? 70° =1

o Watch Video Solution

, 1
78. 5707 / AT fRA6A d@l : sec? 12° — ———— =1
tan? 78°
o Watch Video Solution
79. STo7 / T Ao~ Il

cos ec22° cot? 68° = sin®22° + sin®68° + cot? 68°

o Watch Video Solution

80. oy /faust fA<I5A Pl : a+p=90°

tana
tan 8

1+ +sin?a + sin®? 8 = 1 + sec? a

e

° Watch Video Solution
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81. TR 999 Sl : sin23°=p AT sin 67° =

° Watch Video Solution

82. ATEI 99 T : Tfes cos 73° = %mmcos ec’3° —cos17° = ___

o Watch Video Solution

8. MATBIN g9 IWI : x = acos(90° — ),y = bcot(90° — 0) AT

° Watch Video Solution

84. IATBIA 4 Bl : cos ec”(90° — ) tan” O=

° Watch Video Solution
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85. ATBIA 49T Bl : sin A cos(90° — A) + cos Asin(90° — A)=

o Watch Video Solution

86. JATHIA 94 BT : tan(90° — 6) x __ =1

o Watch Video Solution

87. XATEIN 939 S : tan 25° tan45° =1

o Watch Video Solution

88. [ATEIN 939 Sl : sin? 22°+ =1

o Watch Video Solution

89. ATEIN 994 Bl : 6 = 18° 2T tan20tan30= |
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90. YATEIA SAT BT : o & B IFIK 97D @IV A o + f=__|

° Watch Video Solution
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91.4 4+ B = 90° 930 cos B = g?@fsinA=?

° Watch Video Solution

92.,/3sinf = cos #, 932 O 9BIG FHEIHIT 2 9 = ?

° Watch Video Solution

93, X,y gAaBd TFRI(PI, z+y<90° KN

sin(2z — 20°) = cos(2y + 20°) (e tan(x+y) 99 i fAT S|
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94.0° (AT 45° -a7 (PTG 9B BRI : cos echb4® + sin72°

° Watch Video Solution

95. 0 9 a ATHREL 9P BIT a9 IM cosec(d — a) = 2 2 ©W cos ech

a2 cos eca -a7 FiF ST Il

° Watch Video Solution

96. cos 50°sin40° + cos40°sin50°=7?

° Watch Video Solution

cot A
o)

i cosec’ A

97.A + B = 90° 2T 418 (¥, 1 + S

° Watch Video Solution
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98. 9F(6 DI fagrow 7B FREIT § 93 a T tana = 2 T, B sin S

=?

° Watch Video Solution

99.5in51° = —— ST tan51° + tan39°=?

Va2 +b?

° Watch Video Solution
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